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Question Number : 1 Question Id : 51714410197 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

What does "learning environment" refer to in the context of education?
&m&éoém&e@ﬁ "ol ararddnin” el 3

Options :

The physical location of an institution.
;’;oé sy &8

1. %
The number of students in a classroom.
5 % S55a65) chrtgi%}t: o8y
The arrangement of furniture in a classroom.
SBKHS DESB esndY
3. ®
The overall context in which learning takes place.
4 CIALNSENY 2260 Bwdgsn S [elaleNtany

Question Number : 2 Question Id : 51714410198 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Postgraduate education falls under which level of teaching?
FSEEE Dy @ HB G %;on:tfiﬁ &0EN0H

Options :



Elementary education
[ERHanE D3

Secondary education
E_':Dgéf'édﬁa Alaly

Tertiary education
v éﬁj@@ﬁj D

\Vocational education
4 % aﬁﬁ 3]655

Question Number : 3 Question Id : 51714410199 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No
Correct Marks : 2 Wrong Marks : 0

In offline teaching, where do most interactions between students and the
instructor occur?
58S S5sst, &m@ﬂjﬁ}m S el HBNG Sgen aih ?g@{}

Options:

Virtual discussion boards
. ééﬁé@ oy ﬁﬁéoﬁr;}:n

Online chat rooms

5 % ©BOBS Fo8 Kithen



Social media platforms
sl Setigan S6%en

Face-to-face in the classroom

4 SBKS KBS Sogre S0

Question Number : 4 Question Id : 51714410200 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No
Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No
Correct Marks : 2 Wrong Marks : 0

What is the primary focus of SWAYAM Prabha ?

29aDo (547 @BnE) (GrEans S\ 2B ?

Options :

Offering degree programs online.
©88:58° B seEgEsne H8TES

Providing paid specialized courses.
300D HegE Enen domEn Jcsned

2. %
Broadcasting educational content through TV channels.

3 ¢ 8 ort) oxoe Doy DAY, (Hdo Safnes
Conducting in-person workshops and seminars.
Sgohore Stnakaen, HEnen JBerodi

4. #

Question Number : 5 Question Id : 51714410201 Question Type : MCQ Option Shuffling : No Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Online quizzes, interactive simulations, and virtual labs are examples of:
©R88 HEen, HBHB eEsnen, SENPS (HArtTon B8 Guesedn

Options :

Traditional teaching methods
Foloeahy Ssar HGeen

1. F
ICT-based assessment tools

5 ICT- esprBe8 3000 DAY
Qutdated educational technologies

3 & S00T0BY Doy FoB8ESen
Non-interactive resources

4 % ‘a’naﬁéﬁéiﬂ Syatien

Question Number : 6 Question Id : 51714410202 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Experimental research involves:
(D& 58858 edm

Options :



Observing and describing phenomena without intervening
éﬁééo 088 o iﬁE}E DAce HB8ed DRGs

Manipulating variables to establish cause-and-effect relationships

5 @ o8 (DR Domopredh Dogrobohi® Jemodeid Eavlet) Scsnes

Conducting surveys and interviews to gather opinions
wdgrch DESHD ﬁéé@b, z068m5en DBIerone

Analyzing historical documents and records
4 % TOEg)E dero, bsho A

Question Number : 7 Question Id : 51714410203 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Post-positivism in research suggests that:
HBEEHE° By Aredded GrdoHds

Options :
Objective truths can be directly accessed without the influence of human

perception.
Qe garsd derei,dirdd (e €8 8o [De&sEore 366’35}&@.

1. %
Subjective experiences play no role in shaping research outcomes.
- 588080 Hhare Eﬂﬁééﬁ}gﬁa@ﬁ HFars ehifare aklE Gotkth

3.v¥



While objective observation is important, researchers’ interpretations also
matter.

QeyBares 5886 sy, 508550 DHBemen il araingge Hararon.

Research should solely rely on abstract theories rather than empirical
evidence.

508558 CINVARRY Lo i‘vgvgc“:’m_;',_} 58060, wo|ise ?;}mgoﬁﬁ@_;’g il
4 % OGPEHTRD.

Question Number : 8 Question Id : 51714410204 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No
Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

In academic writing, plagiarism refers to:
QG5 Vo0 SS508® nRirBa0 @b

Options :

Using too many references in a paper
28 ajnéﬁa’méﬁ TPEP GTIPaPOETS) Ga)aiPiian

1. %
Quoting a source directly without citation
) o wHBpHo sor (DegEore HHD °tHe

Rewriting someone else's work in your own words
3 % add e HAD A ﬁéﬁéémﬂﬁﬁ SOA (Iecinéd

Properly citing sources to give credit to the original authors

. oden e TErHd SHhed S0 6oroohe
4,



Question Number : 9 Question Id : 51714410205 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

What is the typical order of sections in a research article?
2.8 HB8 8 ajnac}f:foéﬁ Derereen Heasreen (B50an 8.

Options :

Methods, Introduction, Results, Discussion, Conclusion, References
a’:utge‘_‘i}m, HBBAHEm, HDeren, Yy, HoHo, Ef_ia:ém

Introduction, Methods, Results, Discussion, Conclusion, References
HBBcHam, éféeiéom:u, PDaren, ), dohoD, ﬁtﬁm?ﬁm

Introduction, Conclusion, Methods, Results, Discussion, References
HBBcHEm, dwhod, égéﬁm, POaren, Y, é;gia:c‘(a@:]

Results, Methods, Introduction, Conclusion, Discussion, References
HOaeen, ﬁtge‘ﬁne_n, 2bSahen, Hwhoc, KB, ﬁ;ﬁa}a‘ﬁﬂ}

Question Number : 10 Question Id : 51714410206 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :
No

Correct Marks : 2 Wrong Marks : 0

What is the purpose of the "Acknowledgments” section in a thesis?
?:mgcué aﬁéf:«:ﬁ}meﬁﬁ é@é@éﬁ} Derldn ©SH830N

Options :



To list all the references used in the research
588055680 éﬁg}é@ eflem SO DSSnd

1. %
To introduce the research methodology
5 % 588858 588 HBIScho Bsne
To acknowledge and thank individuals who contributed to the research
5888555 5%;1&33 é@éj@otﬁﬂé 1800, Hgruren dend)és
3.
To present counterarguments to the research findings
4 % $568%5% pDErer ) (HDHEreOTSHe Sfovnios
Sub-Section Number : 2
Sub-Section Id : 517144416
Question Shuffling Allowed : No
Is Section Default?: null

Question Id : 51714410207 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: No Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed
Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval
to replay(In Seconds) : 0 Allow Volume Control : No

Question Numbers : (11 to 15)

Question Label : Comprehension



Note: Answer the questions 11-15 by reading the following passage:
K&oE: (Botd mi@id ddrardo sgrdore Q. 11:506 Q 15 D& Jsrgraron

[arahob.

The mansion of Ebenezer Storer, an extensive edifice of wood three stories in height,
was erected in 1700. It was situated on Sudbury Street between two trees of great size
and antiquity. An old English elm of uncommon height and circumference grew in the
sidewalk of the street before the

mansion, and behind it was a sycamore tree of almost equal age and dimensions. It
fronted to the south with one end toward the street. From the gate a broad walk of red
sandstone separated it from a grass-plot which formed the courtyard, and passed the
front door to the office of Mr. Storer. The vestibule of the house, from which a staircase
ascended, opened on either side into the dining and drawing rooms. Both had windows
towards the courtyard and also opened by glazed doors into a garden behind the house.

2836 P66 Ging) o, Hurth wodii IHS KrsS DIBHS ¢fisko, 1700 &°
ABposatod. a6 $60b @éfe‘iﬁ Both Y Joedd By gy sob.gPSo Fwotd 58
SDered® oFrinds o) HBch HipSed EOAS and @of Jf) 3ty Bbrap
B =) o8 Tror) Darn Schi) Hodn Seoden DAY 28 &) 36 58
058 B8m0 SHre Sofod. N H08 B =NETonS’ ErES dTeDS SKE arh,
RE 28D b, SIJTEE 5555 SO Enoth e 3653;)@“0)3. 508 Hakoe
(88 ok Héy 3ndB GIoR B ([Gronoh Erows™d adEder Dison.
00688 DBSD) aakey 6I200. SAh Senden oo 50} 8 68 sheea
%o &ob.

Sub questions

Question Number : 11 Question Id : 51714410208 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

The mansion of Mr. Ebenezer Storer is old and
SJJQE AR 8] ﬂ‘ﬂ;ﬁﬁ :ﬂa;é@r o arsh Hbatm

Options :

stately
KoDBH6.
1.4 e



in ruins
BB OING

uninhabitable
K}aﬂmﬁﬁﬁéo 506

inhospitable
4 % ©8BOSIG

Question Number : 12 Question Id : 51714410209 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

The mansion was built of
EafnTale) &b Eﬁé@ém&o&

Options :

red stone
1. % o8 Teom

sand stone
. =¥ Teon

wood
Eﬁé@,

stones
U“Eﬁ;}



Question Number : 13 Question Id : 51714410210 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :
No

Correct Marks : 2 Wrong Marks : 0

The courtyard is filled with a patch of
e N0 B & Dol &od

Options :

grass
g

wilderness
65?55:&50

low trees
D) ey

flowering pots
arey Byotsen

Question Number : 14 Question Id : 51714410211 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :
No

Correct Marks : 2 Wrong Marks : 0

The staircase opened into on one side.
el 3 &) Dép &8 éﬁ:&@ﬂm.




Options :

garden

1. % e

courtyard
, % [(@rofeso

dining room

3 ¥ Hhasamer 16

office

4% sno‘jﬁg@cﬁjo

Question Number : 15 Question Id : 51714410212 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :
No

Correct Marks : 2 Wrong Marks : 0

The word that means- ‘wide’ in the above paragraph is
2 aoes Dol o ©go a’;ﬁgj 250

Options :

Extensive

| B

circumference
ffaé:g%”@e‘ﬁ

2. %

dimension
3 % BP0



uncommon
ChvEnEe [ v

Sub-Section Number :
Sub-Section Id :
Question Shuffling Allowed :

Is Section Default? :

3
517144417
Yes

null

Question Number : 16 Question Id : 51714410213 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On

Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

A communication prevents misunderstandings and helps in

establishing a constructive relationship

VRS oarTzol Jardiiod SHidn Jogmrd)E Somoged) DB\BSt0S®

RartChHthenoh.
Options :
positive
1 ¢ FeioEee
passive
5 % Jlepcd
reflective

L x 6B 085585 ¥rlis

retentive
4 % oedes E8 He



Question Number : 17 Question Id : 51714410214 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

Lack of effective skills is a major barrier in the teaching-learning
process.
ARt 9T BHBaHe® (Hped ©86%50 ﬁa’)ﬁgéoé@é
Glfvtnte
Options :

stress management
2,88 JBres

listening
DVEE JFadesgo

crisis management
K:uogﬁﬁ ABeTEs

time management
2enad ABeE5ees

Question Number : 18 Question Id : 51714410215 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0



Successful intercultural communication depends greatly, when one
other cultures.
=t ﬁoﬁg&é}@:@ &oiiéo Hon, @Deﬁé&@f}g@,& Hogres @tinbEen

Boee Frdod

Options :

praises
1 % (2808

respects
2. faigstle)

practices
LIty

helittles
Eﬁ@ Sy

Question Number : 19 Question Id : 51714410216 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :
No

Correct Marks : 2 Wrong Marks : 0

When different people look at the same thing differently, leading to ineffective

communication, it is called barrier.
3’5563 sSgghen 28 AT DPyore L, o SH Siraroeis
m&@?&é@é}, R @08 wotrth
(]
Options :

Psychological
1% BB



physical

, % &8

emotional
w.ﬁa{:ﬁéﬁ

perception

J"I'EI
4V SNIPaTR

Question Number : 20 Question Id : 51714410217 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No
Correct Marks : 2 Wrong Marks : 0

‘Twitter' and ‘Linkedin’ are examples of media
‘ﬁé&]ﬂg’ 0Bcw '@0%5 : SrggEr8 Greietesen

Options :

social
STy

digital
&Bees

Print
s0o(Bes

Traditional
R0TPCNE DR



Question Number : 21 Question Id : 51714410218 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0
5, 10, 40, 240, 1920,
Options :

| % 19020

19200

19220

21120
4. %

Question Number : 22 Question Id : 51714410219 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :
No

Correct Marks : 2 Wrong Marks : 0

DMP, IOM, |, SS5G, XUD
Options :

1. % MPI



MaQl

2. %
~ NPJ

3. %
NQJ

4. ¢

Question Number : 23 Question Id : 51714410220 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :
No

Correct Marks : 2 Wrong Marks : 0

In a certain code language if the word KITE is coded as 4567 and the word
RATE is coded as 8967, then how is the word TAKE coded in that language?

2.8 03) 6 A&’ KITE % HmR) 4567 H0A RATE eF ST
89671 §°6 T W, & 2 TAKE 0% N er 86 Tl

Options:

| 6974

, i 6794

6479

6947



Question Number : 24 Question Id : 51714410221 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

Two numbers are in the ratio 2:7. If each is increased by 12 then the ratio of the
resulting first and the second numbers would be 1:3. The second numberis___

DO oL 2.7 DAIBES e ow. (e 2,563 12 DoV S,
HOSOM J0¢5e3 OO B0 AOWES NS 1:3 e26he0R. DO
QoRE_?

Options:

84

o 112

. 126

o 168

Question Number : 25 Question Id : 51714410222 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No
Correct Marks : 2 Wrong Marks : 0

If the cost price of 16 articles is equal to the selling price of 12 articles, The gain
percentage is
16 360) 8%y ¢ 12 505 @625 HEH DSTH0 eoN®, e7e

¢

Feh0



Options :

| % 16.66%

20%

25%

33.33%

Question Number : 26 Question Id : 51714410223 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

Statements:

All hills are mountains.
Some rocks are mountains.
All rocks are ropes.

o8 Edcden:

FoBO) DG,
') doen b [Eren.
Conclusions:

l. All hills are ropes.

. No hill is rope.
1. Some ropes are definitely hills.

BT JTeN:

. SoBO) =T.

II. 2 §0cs S = 5.

1. Q) & ) JS0m Fodsen.

Options:



| follow

Either | or |l follow

2_ W
Il follow
3.
4 Either Il or [l follow.

Question Number : 27 Question Id : 51714410224 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No
Correct Marks : 2 Wrong Marks : 0

In a class of 10 students, 110 students passed in chemistry and 120 students
failed in Maths, 30 students failed in both the subjects. How many students in
the class failed in at least one subject?

10 00 Derztend) SEKReS” TR 110 H08, HedesoS’ 120 HOA
D sHen oneair i, o Kj@&gff 30 DOO DT EeD

20NOAT . HEHBES” 05D Dsen N0 2.8 PP
OO0 LR?

Note: For this question, discrepancy is found in
question/answer. Full Marks is being awarded to

all candidates.

Options :

120
1.



160

3 140

4 180

Question Number : 28 Question Id : 51714410225 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :
No

Correct Marks : 2 Wrong Marks : 0

How is my father’s father’'s only daughter-in-law’s brother related to me?
S 90 28RSy, 58 35038 5L arogdyo Da0e3?

Options :
Father
1. % el

Paternal Uncle

5 T‘;Jﬁﬁa&vﬁ&
Maternal Uncle

3 ¢ éﬁéjdﬁ}g
Cousin

. % K85



Question Number : 29 Question Id : 51714410226 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :
No

Correct Marks : 2 Wrong Marks : 0

Which of the following is not correct with reference to anumana according to
classical Indian school of logic?

P

8O ROG0H® AL @3 e85 [D5E0 BHEPTIE H0DOOOT) &
1808 &3S HBIO TR DO?

Options :

Linga/Sadhana is the middle term
DoRPSH @6 &0gls S0

Paksa is the minor term
28, e é‘.ll?ﬁcl D50

Sadhya is the major term
3 % WP @30 BHerd H%o

Hetu is the minor term
P @36 &Eécl S50
v

Question Number : 30 Question Id : 51714410227 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0



Which one of the following is true with respect to the first figure of categorical
syllogism?
5085 T0E) FncheEs @0TH H0220H0D & 1208 TBS A Hesz0?

Options :

The middle term is the subject of the major premise and the predicate of the
minor premise
D D0 VA DT [Hababho TBE) 9040 HOOL D) essd8ea

| AB0EY, |raredSo

The middle term is the predicate of the major premise and subject of the
minor premise
20658 D0 A DY) [Habdhbo TINEY (DT 365856 oDOO5D N6

, x OB0E) [rareso

The middle term is the subject of the major premise and the predicate of the
conclusion

- 0G5 DB0 OO DTN eTE0 HOGW SN0 TBE), ©0F0

The middle term is the subject of the minor premise and the predicate of the
conclusion

0E: N0 RO DY) Habdho HO0W SN0y ABwE) @0%0

4, %

Sub-Section Number : 4
Sub-Section Id : 517144418
Question Shuffling Allowed : No

Is Section Default? : null

Question Id : 51714410228 Question Type : COMPREHENSION Sub Question Shuffling Allowed
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Note: Answer the questions Q. 31 to Q. 35 on the basis of the information given below.
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In an University, the strength of male students is 1500, Female students is 1200
and Faculty is 250. The distribution of percentage of strength in various subjects are
given in the following barchart.
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Which of the following is the maximum?
808 ¢3S HBRN0 DO?

Options :

Number of female students in chemistry department
| % SR derrosS e dorshe Sows



Number of female students in Botany department
5 ¢ T Jeriiody Sdrer dersthe dows

Number of faculty teaching Management

, x DL DO B3DOR 53R Howdg

Number of male students in chemistry department

4w TR DerifoS i DoEsde> Hoays
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Zoology students pay an annual fee of Rs. 25,000 each. The average salary of
each Zoology faculty member is Rs.10,000 per month. What percentage of the
fees collected are paid towards salary for the faculty?

23068 T (2Pare)2d) doriden 0% e Gr. 257,508 25,000. (e
23060 T Q(2Fr02d) aﬂéé} ZD1R e 22650 T 6r.10,000. oSedTeN
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Options :

1. 56%

L« 51%

s % T1%



47%

Question Number : 33 Question Id : 51714410231 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

What is the ratio of the number of students taking Maths, Physics and chemistry
to that of students taking Botany, Zoology and languages, after rounding off the
respective totals to nearest 1007
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i flomy
1.4
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In which Department is the ratio of faculty to students, the lowest?
ETEHEIO DD VT shedr DA & V2P0 eoehser Y0P &0A?

Options:
Botany
Chengistry

2. Sl
Language

3 % CARAY

None of the above
. HE3S A B
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If 25% of the faculty members teaching management are absent for a particular
academic year, then approximately how many faculty will be available for every
batch of 40 students of Management in that year?
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ASCI| stands for ?
o). GoR.P.5.0 &b

Options :
v American Standard Code for Information Interchange
American Standard Code for Information Interaction

American Standard Computer for Information Interchange

American Standard Computer for Institutes Interaction
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........ is a private network within an organization.
& BIDD HoPS® b (RIS IEDGY

Options :

Internet
‘|. E

Intranet

3 % Ethernet

. Hypernet
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e-Granthalaya is a digital platform developed by the ........
a-foprecir 826 308 Sairth 350

Options :



Ministry of Education
g $00(@E0

Ministry of Finance
@gé oo (@&

Ministry of Electronics and Communication
3 v JelgelEY), ém@&éa‘i@ oolB&o

Ministry of Mines

4 % Ko oG
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RAM means ........
TPal &Mre

Options :

Random Access Memory
1.¢

Rapid Access Memory

3 % Remote Access Memory



4. * None of the above
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Which is an example of a cloud-based file storage service?
8155 706 DO o eagedSs %?T:rﬁ& 5% GoeseS?

Options :

Whatsapp

Mozilla Firefox
2. %

» Dropbox

 Instagram
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The target year for achieving the Sustainable Development Goal is...
ReBe E:-éj&'ﬁe:@ e A=Y ﬁj&?&%é Lo Bo

Options :

2025
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Which of the following statements is true about global warming?
(H%05 BBHSE® K HIDD O (HAFED HOGDHSH?

Options :

Global warming has led to large scale deforestation
(HHoS B DY BB e BN 68208

1. %

Global warming has led to a rise in the sea levels

5 o B0 ST [ 5;03}@ 25HHdes obdHoH



Global warming has led to a rapid increase in the population across
several countries

i (202003 J8 DG Bed® morer JKHod HHEOD orbH20H

Global warming has led to a huge amount of waste generation

. (5505 B g6 Eéejmv LA 08208,
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Which of the following gas affects human health by reducing the blood's ability to
carry oxygen to different parts of the body?
e D EB%errred @Kh}éﬁ% BESED é@oﬁ} VYR fjﬁﬁﬁﬂéﬁa =

B arding (Herdédo 3@0&

Options:

Carbon monoxide
5?@5 SnoeenG
1. ¢ s

Carbon dioxide

5 % 590 8 ©8)6

Sulphur dioxide

3 % Senb 8 w86

Nitrous dioxide

4 % 3 5%
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The National Institute of Disaster Management (NIDM) was established

80D D) e 0 EDoDDED 36
Note: For this question, discrepancy is found in
guestion/answer. Full Marks is being awarded to

all candidates.

Options :

September 23, 2002
Qyoat 23,2002

August 14, 2001
ey 14,2001

October 16, 2003
©S2% 16,2003

August 14, 2004
@r"i‘@ﬁ 14,2004
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Where was the first International Earth Summit held?
B Al) @Dﬁﬁmgécﬁj Zedpoe(id HHrado 28R “{mjrs_ao

Options :

1 % Kyoto

5 Rio de janeiro

New Delhi
3_ W

New Yark
4. %

Question Number : 46 Question Id : 51714410244 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

What do you mean by ‘Shastras’?
Fo|deen e

Options :

Creative literature
aard)E Jeardio
el =



Learned disciplines
> & BB Boleen

Imaginative

L x ST

Creative and Imaginative
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Who was the chairman of NEP 2020 drafting committee?
Q.32 2020 Snaronte @it X% ?

Options :

Kailasavadivoo Sivan

1. %
Dr. K. Kasturirangan
2.
Prof. Yaspal Sharma
3. %

Prof. G. RajaGopal
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Which of the following learning programme originated in India and is considered
as one of the oldest?

230805 (FBododiad, Horsskbmr SBKBoHaE g5 SEEDED B?
Options :

Law
a"r;gdfb GLESTY

Fine Arts
) % ©08 B¥en

Ayurveda
@Cﬁ)}éﬁgﬂﬂ

Management
NBgsTes
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Which is a solution to reduce the progress of climate change?
TERtn S5 HBI ShHoHes HBL)BE

Options:

Greenhouse Gas
DB 208 TN

1. %

Wind Power

5 @ el ¥8

Deforestation
eE38) F{}iﬂﬁéﬂé

Fossil Fuel

4 % Bewa: BOLH
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In which models of Integrated Education Programme is being implemented in
large scale by governmental and non-governmental agencies in India?
R0&05TSEY) (23ghesk, @’}e,’i)é&éeﬁ 50?&@3, Ejﬁg S5, & Bl ey DG

sy S ©EenTmoD.

Options :

Resource model
1 & DB Shoear



[tinerant model

5 % airlEe Sdurae
Both Resource and Itinerant models

580 sHBaSn S Surae
3. v

Dual Teaching Model

8508 8558 B
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Consider the following two Theorems:
& 8ob) Both ?OE%’D@“E_}E@J 2bhBod0s.

Theorem A: A course of action should be pursued up to the point where its
incremental benefits exceed its incremental costs.
vepodin Al a8 S5 el ok ( incremental) e, S5 mtﬁa&méoéﬁ Epdre

)08 E%SarRoaed

Theorem B: Different courses of action should be pursued up to the point where
all the courses provide equal marginal benefit per unit of cost.
opodiin B 1 9 Stieih eiitte ol 2888 Ko tarod omen SErdDSossth

B arhowd
Options :

Theorem A 1s true and Theorem B 1s incorrect
Ngrodo A a7®o, vtrodo B arddo 5ot

Theorem A i1s incorrect and Theorem B 1s coirect

otrodo A ®ar080, atroso B arhdo
2.9

Both Theorem A and Theorem B are correct
otroseen A, B en Boiir ardaren

Both Theorem A and Theorem B are incorrect
orrposren A, B en Bolir eardaren
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Which of the following is true with regard to the kinked demand curve?
8088 &5rof By Homohod & (Bod A% 06 HK0?

Options :

It 15 a partly elastic and mostly inelastic demand curve
mh BlosndH atggﬁ{éo E0A orer D85 '&?ﬂ“(,ggg)tﬁé&@ EDR Gotnod

It 1s mostly elastic and partly inelastic demand curve
> % 86 TrHBH o?“;gﬁzﬁééo, SR Talel=d) &vm&gﬁ{.ﬁééo EOA &otnod

The upper portion of the curve is inelastic and the lower portion 1s elastic.
3 % Fakaale) @m&?ééﬂg@, Bob griio agggssﬁééo EOR sotnod

The upper portion of the curve is elastic and the lower portion is inelastic
o 325%515&650, (Bob grifo @mﬁéﬁéééo EOR Sotnod
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When the law of diminishing returns 1s operating, TVC 15 ..............
é@é}é& Here ?omgoéo oend® so&, TVC ...o........

Options :



convex
P Hogrsedo 8O sotnob

concave
Dersetio B0A Ssotnobd

linear
3 % HEEBT SN0

hyperbolic
206806 Sotnod
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A condition that MR=MC and AR=AC is found in the case of:
MR=MC %8csn AR=AC &o@d ?&}3@

Options :
In the short-run under perfect competition

So0FY Ao Sopsee 98

In the long-run under perfect competition
S0y FEE° Bdseo 28



In perfect competition irrespective of the time period

3 % sre0& Homodio Bowe ﬁa@vgﬁé% 28

At the shutdown point under perfect competition
Borg DEAEE HurdEn Dot HE
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A firm reaches its optimum size in the long-run when any further increase in
capacify....
2.8 é0§ edeoidah ﬁgomé SR, &8 5503395‘5 Q0% DENGEH 26A3 ©b....

Options :

will result in increase i LAC

1 ¢ LAC 0 2odHeénod

will result in decrease in LAC
LAC O éﬁ@o&

will result in decrease in TR

., » TRO $am08

will result in increase in TR
4. % TR D 2ohehod
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Assertion (A): Isoquants are usually convex shaped.

Reason (R): Both the input factors capital and labour are perfect substitutes.
8FSS(A): $5H5B5rmEopen Ferdmore Hogrseio ¥OR dotron.

se6e0(R): 8358 seeren suretko, [#:5 Botr H0PY (DaEegEirmairen

Options :

Both (A) and (R) are true
(A). (R) e Botsr amdo

Both (A) and (R) are false
, (A). (R) en Botsr mardso
(A) 1s false but (R) 1s true
_— (A) oarddo, (R) ardso
(A) 1s true but (R) 1s false
4 (A) =80, (R) @ardso
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MP1/w=MPx/r shows that the firm has achieved.......
MPp/w=MPxg/r 503 JFHoDS B BDHES0H

Options :

optimum employment of the input factors i the long-run

1 E:gsvmoeﬁﬁ 25585 selsre efendah ﬁﬁ%ﬁé

optimum employment of the input factors in the short-run
Seysroos® aSHes sedsre edoddoh &6°5AS

the maximum possible production in the long-run
&Q}s‘?@oeﬁ’s FRHOSKON 1KoY &6

the maximum possible production in the short-run
Srensreood® SPROSKON KBY 663
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Which of the following two statements are correct?

& ([Bob aeRE® AB0H HEbSe TKHH0?

1. In the short-run ATC=ATVC
é&g@n}sﬂa}oeﬁﬁ ATC=ATVC

11 If decrease in AFC 1s < increase in AVC. then AC decreases
AFC & é.’i}nfﬁﬁ: < AVC &° 2%ibden éoé, AVC e‘.ﬁr‘igé}@&

1.  If decrease in AFC=increase in AVC. AC remains constant
AFC & éf@iﬂ@ = AVC & 26ipdemr sos, AC Adwore 60énod

1v. If decrease in AFC > increase in AVC. then AC increases
AFC & érgiﬂ@ >AVC & 208 sofl, AC 2%5H&od

Options :

1 and 111
1 ¢ 1 snbBaciw 11

11 and 111

11 S08c%n 111
2.

11 and 1v

11 3083850 1V
3. 3

1 and 1v

1 S08c%n 1v
4. %

Question Number : 59 Question Id : 51714410257 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0



Match the following;

adnbdos:
Description of the cost Cost
a‘ﬁgdﬂ}&a‘)ém a‘ﬁgr:iﬂ)c
1. The total cost associated with a particular decision 1) Relevant cost
2.8 é‘ogdﬁm%ﬁ b6 %) Sndo i) D020 i)
2. The cost affected by a decision i1) Incremental cost
2.8 ?L‘Jgoﬁméﬁ {;}EJ"g)éfﬁjO_éﬂé qaiﬁ:& @) mifalj
3. Past cost that 1s not affected by a current decision 1) Total variable cost
@’}Kﬁmé ?Jgdﬁm S0 (Herddo =9 &% Cle) Sndo Sagaho
4, The cost associated with the level of output 1v) Sunk cost
2.8 ﬁmﬂm%ﬁ 6EIGED) pt) 2508 oo
Options:
I A 2-111 3-11 441
‘|. W
5 % 1-111 241 3-1 4-1v
1-1i1 2-1v 3-ii 4-1
3.
4 1-11 2-1 3-iv 4- 111
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The monthly demand curve for calculators 1s P=1000-Qq. Present price per
calculator 1s Rs.300. If the objective of the firm is to increase the total revenue,
the firm shall:

svméjgééaiﬁ:i 3o8&rol By P=1000Q, 5‘}@3:‘5)55&35 {;J?%ié &8 8. 300. ﬁo”%’:]

= = T
ofio dndo kR Dodo ©Nd & R0R):
Options :

Increase the price

1 ¢ S owed

Reduce the price
5 % fnle] éﬁoaﬂﬁ)

Not change the price
BB BrBy) Babihd

Slightly decrease the price

. g0l &8 Shod
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ITC understood that there is going to be secular decline in the demand for
cigarettes and has been shifting focus to manufacturing of food and several other
products. This decision of ITC 1s influenced by:

lafelalsy fbgsvméﬁ &5rok éﬁgtﬂ@ &0tnotdd @go 3‘5}}&?6& ITC, & CSJ&F{} 95380,

3
288 $He Sairt8amed. ITC &%) & P HardEnsdos.

Options :



Socio cultural environment

- YL Witk 530023&, Q@é Do BE0

Natural Environment
ErE)8E HogSsmo
2. %

Political Environment

3 % oeelch éc}jﬂséiﬂmc

Economic Environment
esBE E/:lD‘EEfJﬂftE?aD
A
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Simultaneous purchase and sale of government securities under Open Market
operations by the Central Bank of a country 1s popularly known as:

2% B¢ S0t ars0f) 4200 Hro sserare 8ol aBarb arofid 8%, wiioed
%3 wh:

Options :

Operation reverse position
INBAS BH5) &P

1. %

Operation control

, x ©505S Lo’



Operation leverage
e5i00S DH0E

Operation twist
BS50RS A
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Assertion (A): Of late. m India bond prices are falling and bond yields are rising.
H&arSH(A):. & 55)(555“&)0@6 erBEoft arok Ben Srpaman, erodh bibathen

?;Jtﬁjﬁjetﬂmncpl}.

Reason (R): There is an nverse relationship between bond prices and bond yields.
s8m0(R).  aroth §Beb), aroth Bbatbed iy é@@éé Xo20l0 &otnob.

Options :

Both (A) and (R) are true and (R) 1s the correct explanation of (A)

(A). (R) en Bokr %0, (A) (R) 588 Q&6
1.¢

Both (A) and (R) are false

, % (A), (R)en Botir eardsio

Both (A) and (R) are true but (R) 1s the incorrect explanation of (A)
(A). (R) en Botsr arddo, (A)8 (R) 8585 58k =t

3. %



(A) 1s true but (R) 1s false
(A) =580 (R) ®aedio
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Match the followmg:

adaddol:

Description of the deficit Type of Deficit

&en 9B &en 8¥o

1. Total estimated expenditure as reduced by total 1) Revenue deficit

estimated receipts B3y &0
©oSTRNS Trathed é@oﬁ)é wode JNH P
2. Total expenditure as reduced by total receipts on i1) Budget deficit
revenue account oGt &
B3ry o870t Trahed SR0DS o 208 o)

3. Total expenditure as reduced by total receipts 111) Primary deficit
except borrowings R0 e
o0 &) asd dndo piy) SR0A Fwdo Trathen

4. Fiscal deficit as reduced by interest payments 1v) Fiscal deficit
56 BYoden $AoDS &S AL Lo

Options :

1-1v 2-111 3-11 4-1
1. %

- - - .

x 1-111 2-1 3-11 4-1v



4w 2-i 3-iv 4-iii
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Under -=--==------- the rupee exchange rate 1s left to market forces without any
regulatory imtervention and without imposing any limit on inflow or outflow of
capital for various purposes:

& (Bod od o Graron SrEED Dendid adEHE Doholdee éﬁé?go Bow,

Hress A, ekhmod FHS 58S Shor SFEES Fo SHOFE.

Options :

Full Convertibility
1 ¢ B =BG

Partial Convertibility
EE Srd\&

2. %

Current Account convertibility

- E80t) grae Hrdyd

Capital Account convertibility

n Soreid grae Srdh
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Match the following:

2o
Description of the mode of entry Mode of entry
B3¢ DD D 53¢ dido
1. permission to use legally protected technology 1) Franchising
arsahBBorr SEodats Arosass [grozhoh
2. right to use trademark 11) Joint Venture
B& 5B &H@RR0D 28 asyf agErdo
3. sharing ownership and management with i11) Licensing
another company gadoh
6% god& aSressiriyo, DT H058%%%0
4. hires a local manufacturer to produce the 1v) Contract
company’s product Manufacturing
Sod 55D Sorhichmeds %&é &6 BrHi 5P0¢rE) 68)8
©Ft &8%s%0
Options :
1-1v 2-111 3-11 4-1
5 i 2-1 3-11 4-1v
3 % 1 2-1v 3-11 4-1
4% 1-11 2-1 3-1v 4-111
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Which of the following theories 1s based on relative productivity differences
between countries and incorporate the concept of opportunity cost:
% (Bob ?:,m;oa:vmég 08 Bae ey tavtiEse ﬁmﬂﬂ}?g eprlt @dsed H0Hersti

=06 é‘;fﬁc}_&

Options :

Absolute cost advantage
Q30 $RoD (Hadred Trodo

1. %

Comparative cost advantage

F ol 350D (e wrrodo
2.9 2

Relative factor endowment
ﬁ_ﬁjgsviﬁé DoEFoes ?bmmboéa
.

Product Life Cycle
D sroBE Drroso
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Unicorns are public startups that are valued by private capital (@ -----------------

US Dollars or more:
dhrdsByen odm ------ B8 @08%08 I Hrerosto EDAS HE5 wokiio

e2h

Options :

10 million
10 QoD

100 million
100 SHOSHK

2_ W
1000 millon

L » 1000 205K
10000 nmullion.

10000 DA
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Russia 1s fighting a war with Ukraine because the later wanted to join:
rE_-—---- &° HdBomroinE’deo Hod Bay iR aingio A

Options:

.« NAFTA

NATO



B

, « EFTA
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The main objective of which of the following organizations 1s to assist
developing countries to integrate beneficially into the global economy in support

of inclusive and sustainable growth and development:
SHyUL &5 FRoSKON a’aej,%, @Qéﬁj@ﬁ) PoSErN8 (HH0S e_sgé {)5{){@355 éaﬁagom

805emR8, s_&}é)a’)e)% Jothey) drel $5cho ahto L}émﬁﬁéé?gonﬂ ge 50?’3:
Options :

WTO
| % WTO

WORLD BANK

5 % [0 argoH

IMF
IMF

UNCTAD
v UNCTAD
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If we allow the facts to speak for themselves and not be mfluenced by the

personal values and biases of the researcher. it is known as:
TR BES 568555 it BB, Dended (Harddo sehom éméa;;é

©S5eED ©b:

-

Options:

Data
HeERodo

Analysis
Dases

Interpretation
. DHDESH

Objectivity
=BEDS
BIED
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The research completed in a controlled environment is known as:
AAH0BS HoxgBdenod® rounn HB8ES

Options :

Quantitative
éﬁéﬂvwééé 568558

Exploratory
@553105 588555

Experimental
B@PPEE HB8°SH

Empirical
4 % G0 eprdd 5880
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The sampling technique in which each item m the population has an equal
probability of being chosen is known as:
2:7erE’) (98 ©oTN8 oY sHErDE HErEY wdsdore [HAPADD RInlt

Options:



Sampling
S83HS HZ8

Simple Random Sampling

5 eretes S B8 (H8Sahido

Non-Random Sampling
r&@di“fﬁ;,%gé Eslztwlonitate]

Stratified Random Sampling

, x D08 CRHBE @HBSaNSo
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Sample population that best represents the entire population bemng studied can be
obtamed through:
Fndo agrd (@8I0 H5r0D [HBIADS e & (od SB8 Tepe ErolS);

Options :

Multistage sampling
1w  DS0ESE S83chido

Stratified random sampling
HBSATEBYE (HBBAHBO



Cluster Sampling

%) BBSA0B0
3, #®

Judgment Sampling

e3t5a08) (DASwchdo
4, % &
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Expansion of the acronym SPSS is:
SPSS& dX80d08.

Options :

Statistical Programme for the Social Sciences

Statistical Package for the Social Sciences
2. ¢

Statistical Programme for Social Studies
3. %

4 w Statistical Package for Social Studies
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In a Scatter Diagram. if the plotted points lie on the straight line parallel to the X’
axis. the relationship between the variables is:
agéé‘ééao@ﬁ 6008 Dothed) X'eogls dirosdore @i&iﬁ@m E’Jtﬁ;&é Seorde

a0 Somotio.

Options :

Perfectly Positive
éo‘ﬁ’.gjﬂg cﬁa&e’_%éo

Perfectly Negative
QoY BoerdEo

High degree of positive
Ejnzﬁjw‘»ﬁ;on FrF)Bo

Zero
& KJER;D
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Which of the following are properties of Regression Coefficients?
& [BoBadEd (58860 Hesee ﬁﬁ@@ﬁjg}?

1. Both will have the same sign
Bokr a8 20 BDA Gokron

ii.  Both cannot be greater than one
Bo&r 2,88 Kob) & HBHTERo DA 60K

1. They are independent of the change of origin and scale
sureo, ‘i%@;» Bob:88 dogore &otron

iv.  Arithmetic Mean of two regression coefficients gives the correlation
B0t 28K hesre eoihieho HirbHonotio

Options :

1. 11, 111, 1V

1, 11
3. ¢

1ii, iv
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Assertion (A): The greater the standard error, the greater is the departure of actual
frequencies from the expected ones.

Reason (R): Standard error provides an idea about the reliability of a sample.
8FSS(A): (BrirdE 6%0 dos &Jéjgﬁﬂ_é, dﬁjmg Ti:dargen, 680l Fd e

©OSLPEOMT S0P,
s:o(R): [arsirdd 6%i0 [H8Sehido Gho8) S)éng”éfadﬁjééa 20205008 HrS
LentiEZR0b.

Options :

Both (A) and (R) are true
(A). (R) en Botr @5}@%’)0

1. %

Both (A) and (R) are false
- (A). (R) en Botsr ahorgo soth

(A) 1s false but (R) 1s true

3 % (A) oo, (R) =080

(A) 1s true but (R) 1s false

A (A) 7080, (R)esrddo
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Degree of inequality in incomes can be studied through:
erdired® @dsrds 3@00}3& &3 wqoe SeDEHY:

Options :



Philip Curve
1. % PO éﬂj

Ogive Curve
325 éaﬁ

Lorenz Curve
ePB0E O

Laffer Curve
4 % DD O
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When we accept a null hypothesis which 1s false, we are commutting:
@Bl Erds (H8aRESH wohg83), Hido T o:

Options :

Type I Error
85 16%0

Type II Error

85 &%
2. ¢



Type III Error

. 85 M&%o

no error
4 % &%0 8
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“What 1s to be achieved i a given time period by the business™ 1s stated by:
R}Q% H00006° Do rBoSKeE® 3006

Options :

Vision
B
#® ]

Mission
5 % &0dAS

Objectives
ééﬁﬁjntn

Goals

4 x OSTOD
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Which of the following functions of management can be regarded as essence of

management?
& (Bob Akres DHes® 3D Nses o) SRSore H0KHoSHD),

Options :
Organising
Eég:ﬁ%ér:ﬁaa

’I_ ]

Staffing
o

, « oo
Coordinating
Sanekaho

3. % -
Controlling

4 % waboEes
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Organisation establishes relationship between
a’:gcﬁ"”nﬁ}} %eﬁzﬁ}cﬁé So@ofo aBtob?

Options :

People. work and resources

- (2desen, DR, Dgoen

Customer. work and resources

5 % greEeetD, Ha), Ltoen

People. work and management

3 % Sesen, H, VgSees

Customer., work and management

4% e, O, DBETEs
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Managers not having control over many activities is a drawback of......:
Srelh wer slEoraro i dchogen SEekdto B0

Options :

Matrix structure
S 88) Qoo

1. %



Vertical structure
&agg R}Uﬂéaao

Horizontal structure

- E5°7 No2eso

Network structure

4V 3&5&35& Ao%es0
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The Fayol principle of management that states that there should be a proper
hierarchy of grades and responsibilities from the bottom to the top of the
organization, 1s known as the:

Bossiood D H8% 6355’)"%})5‘5 @;cmm, artsdo ang) 588 Fardo sowrel) Bé}ﬂ} ool

NGEFes r(Eo:

Options :

Scalar chain

%ULJTFJE APeniio
1.4

Division of work
SSEARATAES

Centralization
éolﬁ&%éo

3. %



Subordination of individual interests
818 eaden S°0A Gotéso
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Which of the following are true with regard to Hygiene theory of motivation?
@8 774 hrposrdd Komofod & (Bod 8" a9 awibo?

1)  This theory is closely related to Maslow's hierarchy of needs
& nrpodo SrRf edIETrS drpoard8 $HB domofo SOA Gob

1)  Only if higher-level needs (motivators) were met would individuals be

mofivated.
638 Jrom eBome 88596 Bien (s Sroheet)

1)  Managers must focus on changing the mtrinsic nature and content of jobs
ﬁﬁ%ﬁa@é‘a STeTalelaleT AN sﬁaoégé Rgrao, Madired Aowsren L%glé%@

iv)  Managers need not focus much on meeting lower level needs
NorHen SEysaron oddtea [EERErdd eddto B
] Lo @ [
Options:
1. 11. 111, 1V

1. %

Ly LiLiv
i i iii

3.¢

i, 111, IV
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Match the following
& (Bob & esstdol:

Name of the leadership theory The theory says

PAHES; aErod Bl lagele 3008

1. Great Man Theory 1) emphasizes the significance of context
°2) 3R ?om;oéo éoﬁtﬁa} @vqsﬂeégé '8) 39od

2. Theory of Situations i) effective leaders inspire workers
36R%e Ging) drpodo 88 raben [FEhHod O 0)

3. Theory of Transformation  111) leaders are formed and tramed. not born
Brarosl H0em nepodo FohdHen doogso Jodhert, e grothaety, yale)

4. Behaviorist Theory iv) leaders are born. not created

[matEarh hmrodo onden sk, Snodatt

o [A] @a—"' Ep'%:"
Codes:
Options :
1-1v 2-1 3-11 4-111

1. ¢
5 % 11 2-1 3-111 4-1v
3 % 1-1 2-1v 3-1 4-111

4-1v

I
i
[y
L]
1
(==
jy

1-111
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Identify the correct process of communication:
HBPeNE Sowoho) HIN 1HIBah

Options :

1) idea formation 1) encoding 111) channel selection 1v) decoding v) feedback
» 1) 9655 Srerotitoo i) DSE%Goh iii)a’mg Jo2¥ iv) AsBoR V) LEerE

1) idea formation 1) encoding i11) decoding 1v) channel selection v) feedback
1) a5 GrsroBto i) 058%8oR  iii) ASPBoR iv) &Y onos V) 5EerE

1) 1dea formation 11) channel selection 111) encoding 1v) decoding v) feedback
1) 6558 grerotito i) &8 ool 1ii) S8R 1v) 85fBoR V) HEerE

1) idea formation 11) encoding 111) decoding 1v) feedback v) channel selection
1) @655 Grirodio 1) DS8°R0R iii) A8°BoR iv) b&wE V) 58 oJoao8
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Assertion (A): “Culture eats strategy for breakfast.”
©BaRES(A): Do) )8 gy wemStore &0%0tn08’

Reason (R): The culture of a company always determines success regardless of
how effective the strategy may be.
5880(R): dyrgse FBES dod e Boan $05) )8 DesafrR) Horbiod.

Options :

Both (A) and (R) are true and (R) 1s the correct explanation of (A)
1 ¢ (A): (R)en Boir a78o, (A) B (R) $588 9&8es

Both (A) and (R) are false
5 % (A). (R)en Bodir eardso

Both (A) and (R) are true but (R) is the incorrect explanation of (A)

3 % (A). (R)ew Bo&r arddo =0 (A) & (R) 685 D8 s

(A) 1s true but (R) 1s false
4 % (A) @550 =20 (R) @ardiso
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Expand the acronym ESG:
ESG Ddbodos:

Options :

. Environment. Strategy. Governance



5 % Ethics. Social Responsibility, Governance

Environment, Social , Governance

4% Ethics. Societal orientation. Governance
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You own a business and you have accounts receivable pending with you which
will be due after three months. But in the meantime you need access to cash to
address immediate liquidity needs. Which of the following service you require?
NSRS aF5aR0 608 Q88 Sirth Foe KodHKe oHdHE oot Gon. &) )
Efucjegeiﬁr'\j) e esiidgEe &)gé&éﬁ wdioe B85 ob. HIEES & Bod B85 Hisd
893380

Options :

Factoring
- :ﬂﬂgﬂoﬁ

Underwriting
Soedrd)
2. %

Hire purchase

- ©3 EonRben



Merchant Banking

4 % 0005 aroBoh
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When the financial entities — the commercial banks. Financial Institutions.
NBFCs—undertake multiple financial activities under one roof, thereby creating
a financial supermarket, it is termed as:
@gé ﬁogm-aﬂsﬁcﬁg groten, @gé :60%&;3, NBEFCen - 28 r% (8ot D &agfé

. Ny
sedsBeraren ather, S A6 Er0)) HaR ©b:

Options:

Virtual Banking
HENHS aroBoh

Development Banking

@80 arofoh
2. i@ L]

Universal Banking
ar=SSYS eroBoh
3.¢

One-stop Banking

Ha ara zroloh
4, % e
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Which of the following pair differs in terms of organization. interest rates,

governance. scope of functioning. objectives and values?
% (Bob mdod® Dud éﬁéég SBorP, Eﬁ%‘é@g iﬁgé@, Dbresitore, 508% 5666°

Gofren-Yende é&% 350 EOR &ob.

Options :

Commercial Banks and Cooperative Banks
1 ey eroben, JPsed erothen

Private Sector Banks and Public Sector Banks
2365 aroHen, HAE Soif aroHen

Indian Banks and Foreign Banks
258 eroen, DBH aroen

Foreign Banks and Private Sector Banks
D88 aroHen, (2R arothen
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Match the following with regard to performance of a Bank:
a0 HVBDE HonohHod) &% 1Bod AN =SH8S508:

Operational Parameter Relates to
segEerd) o) B8 Homobodobd
1. NIM 1) Adequacy of capital
NIM o soretddo
2. CAR 11) Cost of funds
CAR e sgaho
3. CASA 111) Quality of assets
CASA rs_a"n:am@ g
4. NPA iv) Spread
NPA @&
Codes:
Options :
1-1v 2-1 3-11 4-111
1.4
1-1 2-1 3-111 4-1v
2 %
3 % 1- 2-1v 3-1 4-111
1- 111 2-1 3-11 4-1v
4. ®
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An increase in reserve requirements result in:
Bestig ®dITre Dot HdEOo:



Options :

Increase in CD ratio
|« CD a8 srbsse

Decrease m CD ratio
ch E}?’%@fﬁﬁ éﬁgcﬁ@

Ideal CD ratio
@cﬁég CD 258

Decrease i lending rate
@E:fnﬁj Db éﬁf‘igtﬁ@
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--------- is the minimum lending rate below which a bank is not permitted to lend:
% (BoB 0" L0 SE8) é@ém@b erofien Beren sElE @hHdosh?

Options :

Administered Interest Rate
DcHo(BS $EBew

1. %

Prime Lending Rate
5 % (EPEeRy Boes aﬁééém



Benchmark Lending Rate

BoDHEE), HEBED
3. ® =

Marginal Cost of Lending Rate

éarod Hoh SEBeD
4.¥
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Assertion (A): Repo rate 1s used to control inflation and reverse repo rate 1s used

to control the money supply.

H8RSH(A): B8P @5555%5@ Aedholdn &HARAT), B:5K)) BEFDLD (255

S0 DabolEed AEEARD.

Reason (R): A high repo rate helps drain excess liquidity from the market,
whereas a high reverse repo rate helps mject liquidity into the
economic system.

s2860(R): & B8P0 B &) (SsigEred) 83008 &HERIHeE, B

8550870t 0¥ ENHE'8 (iEl DoHeris SS@RNSHH08.

Options :

Both (A) and (R) are true and (R) 1s the correct explanation of (A)
(A). (R)en Boir a0, (A)% (R)HDH DHdes

1. %
Both (A) and (R) are false
- (A). (R)en Bodr waredso

Both (A) and (R) are true but (R) 1s the incorrect explanation of (A)
3 % (A). (R) Botir a@ddo, (A)E (R) D588 D886 5ot



(A) 1s true but (R) 1s false

L v A 7o 59 (R) o sth
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Which of the following fund is a tax saving fund?
& (BoB Hokes® 0o SR Srd D Ho&?

Options :

Hybrid Fund
PDE Hob

Equity Linked Savings Scheme
5&A& DoE wond DY HFo

Fixed Security Fund
28 DEFBE Ho&

Debt Fund
%o 5ok
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Which of the following activities a NBFC can take up?
& Boh svéééﬁwi‘mméﬁ NBFCex Séﬁgﬁ:ﬂ@ﬁﬁ@ﬁﬂ&?

Options :

Agriculture activity
SgRPCDH sedEeraren

Industrial activity
a8 |FEhE seEgEeraren

2. *
Construction of Immovable Property
0 esdne ?ﬁU‘:‘éﬂaD
3 5 (] [~
Insurance Business
AT atgi\véo
4, &
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Which of the following agencies entrusted with both regulatory and development

functions of the sector with which it 1s concerned?
& (Boh ED&?:'E}“‘]E}@& 26 Dabolses, @&‘o’};@ DBoH S35 Honododd Borrdd

QRaTPn06?

sl =5 ®

Options :

TRAI

1. %

SEBI

CERC
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----------------- 15 a product that 1s built around the core benefit and actual product

by offering additional consumer services and benefits.
DIBrERD oihs Ddew, 0O XD HR%) dogy @%, Gﬁjmﬂgé@@ zﬁjéagf 336@0%’3{1

550590 250 SHenakth?
Options :

Generic Product
1 % OROE D0



Branded Product
lerocdh H:ns)
2. %

Augmented Product
205980 DTHD 20D

Delighted Product

4 n STSESES S
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Consumer knowledge. attitude. use or response to a product etc. are taken into
consideration to segment a market. it 1s known as:
)] poids’ DAGRKTE S5 56@‘;330, 390, HAGrHo B8 [HA 0B HBKead

&508 8:0%08, wpoksH % o R5RaOL:

Options:

Benefit Segmentation

- @Pg POLD

Psychographic Segmentation

DEHE oS

Lifestyle Segmentation

5 x Go0 3D Potsd



Behavioral Segmentation
4 [EHES osd
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CRM i1s an example of’
CRM 698 awesries:

Options :

Marketing Information System
. SBYBOR BBPTS B3

Marketing Analytics
sr8)Boh ©dOaE,

2. %
Marketing Feedback

_ Sro)foh (3580t
Marketing Intelligence
srt)oh motdesd)

4. ®
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‘Toner cartridges for printers’ 1s an example of:
Broes %6 = BE’ B8 &mrsTses:

Options :

Complementary Pricing
IPBE §5 APADo

Captive Product Pricing
2ob £ dBaHo
2.¢ =

Tie-up Pricing
2388 é@é $H5 DeRo

By-product Pricing
GINND) PO APeRo
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R the retailers encourage customers to buy with shopping

coupons. discounts and huge events:
paioh ErdR, E0ty, i %3068 grarmrod o8 S8 savFHeT e

Options :

Transactional Marketing

L TA LS Eﬁjﬂé&%@ﬁ
1. %

Undercover Marketing
Ba5edg drg)@oh

Diversity Marketing
A5 5@ oh

Relationship Marketing

Hoaod Hrc)Boh
4 %
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If the concept of social responsibility 1s integrated mnto the commercial marketing
strategies, it 15 known as:
e Sro)foR Wrted® Firal arliEh ally ob:

Options :

Social Marketing
dores HB)Boh



Societal Marketing

P0d Sro)@oh
2.

Responsibility Marketing

3 % arige dc)Boh

Integrated Marketing

BDEODEDD a‘ﬁDBéﬁfjoﬁ
4. %
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Match the following:

adbattob:
Type of Marketing Example
srg)oh B0 &TPaPles
1. Personalised Marketing 1) refer the product to a friend and get discount
@ﬁééﬁo&é sr0)foh ?od\_ﬁjoéamg o) &370t) grotiéio
2. Word of mouth marketing  11) product placement in a movie
SBsre o $08oh MEPE 5% (DB
3. Stealth Marketing 1) coupons for items the customer regularly
&Poierd Erg)foh purchses
DAGrreten (Edore 87 Shden Ero
4. Affiliate Marketing 1v) commussion to an external website for sales
edaoy drd)@oh generated
wiyEeen DOEr0HONKHE 2irlE e phHtd
HYNA)
Codes:
e
Options :
1-1v 2-1 3-11 4-111
1. ®
1-1 2-11 3-111 4-1v
2. %
3 % 1-11 2-1v 3-1 4-111
4 I- 2-1 3-1 4-1v
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Assertion (A): Starbucks cannot claim that it 1s practicing green marketing simply
because it designs and uses disposable coffee cups, recycles its waste,
supports farmers and also uses its marketing to communicate these

practices to ifs customers,
B8aSS(A): wraroa S 428 o8 arisko, 38 Bp8sadhto, Sirdirtiolh
tsobodb0. S 5‘@?6(;._ & sl ErKThHo adahEahiro
e SR $5 68 SrgfoR edthm F6ak) Sond 3dixpi.
Green Marketing consists of several marketing activities, including
changes to products, processes, packaging. or even advertising, aimed at
ensuring that the product is perceived as safe for the environment.
s8mo(R): S SomiterB FEHR0 ©f HHb sl To 85 (e, xsEoh,

B8ede Srtner S Srgfol sigEerarer) 08 ErgBohd® SDh sotron.

Reason (R):

Options:

Both (A) and (R) are true
(A). (R)en Bodr aedso

1. %

Both (A) and (R) are false
(A). (R)en Botir eardo

(A) 1s false but (R) 1s true

, o @ omiSo, (R) =0

(A) 1s true but (R) 1s false
4 % (A) 7080, (R) @ardsho
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---------------- is the flow of goods that includes the management of procured parts
and materials, distribution 1nside a factory, product management. packaging. and
shipping to warehouse.

WEB0NS ary, HBBDE) A, G50 %0 Hobdk, SHAEHR, arSdoh, TS

& JHTe S8R Son ﬁé& N [g.ﬁam?.”j%& % dorr HOHBTD.
Options :

Production Logistics

&S erRdE,
| AN St

Procurement Logistics
D88 erRDE
23

Sales Logistics
oiiysee erRyE)

Recycling Logistics
872800h era2dEy
-— [:%]
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In service marketing mix, the aspects such as the ambience of a bookstore or
restaurant, the music, the friendly face of your travel host etc. are all come under
the element:

a8 Dusre B B Bapood arerdtmo, Jo Hofido, & [Hoire 2FED T
a8 usee 050 Boe O mﬁo@ PEDVR0, sn W0NG0, a [P aFPg wer

0 o
PSR (550 aéﬁ)& %@éﬁﬁéﬁoﬁ MEHos H6KBI6:

Options :

Product
ATV

1. %

Process
2. % @@mj

People

3 % (Desen

Physical Evidence

4V FAE FEo
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A dress 1s displayed in the showroom with a price tag attached to the dress. It 1s:
58Erh 28500 ol (K0 o ffros? HEGt. =

Options :



An offer
HBS5S

An mvitation to offer
SOFBIE w0

A conditional offer

3 % DB’ ErBS (HATRES

An implied offer
B ©SFESS
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Assertion (A): Void agreements are always 1llegal.
(HBaREH(A): IR audomren el ﬁDCﬁUﬁa‘_ﬁrE}@ﬁ o500 éﬁ@ﬁéo.

Reason (R): Illegal agreements are always void.
sedeso(R): a%oﬁ}ég}@ﬁé 2,30)0TPOR)) ) m’odmﬂé@@e 2.

Options :

Both (A) and (R) are true and (R) 1s the correct explanation of (A)
(A). (R)en Bodr aro, (R), (A) cdn¥) 588 Dbdem

2. %



(A) 1s false but (R) 1s true
(A) @ardiio, (R)ardso

Both (A) and (R) are false

_ (A). (R)en Botir mardsio

(A) 1s true but (R) 1s false
(A) ards50, (R) mardsio
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A does an act at the request of B. If B suffers some losses and A offers to
compensate him, it is a contract of:

B o8 A28S0 35, 283¢ B age $o 2008 o8 50180 3R
B 358, es5eo(trE)?

Options :

Guarantee
9 5P0(7°E)

Indemmnity
SHDBHE seolery

Bailment
BandDots seoltry



Agency
SESN Sellvsy
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*A buyer cannot hold the seller responsible for nferior goods™ 1s known as:
“@é}&éomﬂéjéj B85 DaDdeid FRtenme @ﬁé&% ICHBL”. BD HotrBol:

Options :

Doctrine of Constructive Notice
Hogrige SHaS Slaieble

Doctrine of Ultra Vires
efseoeds ?;jc%noéo

Doctrine of Caveat Emptor
B Pentrdd aiil S iaielle

Doctrine of Absolute Liability
ée‘f.gjvg Al ?Jt:ﬁgoéo
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The validity period of cheque from the date of issue i1s:
erDINS BO HHod 3Ly wvend® o6 seeo:

Options:

3 months
3 Jeen

6 months
6 Joen

1 year
1 Jos&do

1 month
1 3e
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Which of the following is an anti-competitive agreement under Competition Act.,
2022:

s0RBES S40 2022 [Hseo & BobadS® OB wobdnSh SETEHY eotio?
Options:

Resale price maintenance

tlelg! &:nfoé* B8 DBsres
1.9

Imposing unfair conditions on price
$8P @TgchHghd NS&en EEO

Predatory pricing
&8 55

Denying market access
ST ®otharendhose JaHo
4. ®
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A Limited Liability Partnership combines the characteristics of:
5B areies grraREigo ) ofre oons?

1 a conventional partnership
FOlRTPAD griiaeEngo
11. a public limited company

HEE DBE Eod

i11.  a private limited company
(233¢5 HMBE Sond

iv.  a partnership
gPRriRgEs0

Options :

Both 1 and 1
« 1,11 Bor

Both 111 and 1v
> % il 1V So&r

Both 1 and 11

1. 111 Bodr
3.4

Both and 1 and 1v
. 1506c%0 1v
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Match the following:

Gl releInlelan
Intellectual Property Validity
e H0Hd BP0
1. Patent 1) life time plus sixty years
28ots 2Ddsre0 Jo iz doddoren
2. Trade Mark i1) for 20 years
@35&6?5& 20 Jonen
3. Copy Right 111) 10 years subject to renewal
SR 5088 KBS 1050n
4. Geographical mndications 1v) Perpetual subject to renewal
RS Srden $DESe SBHE IH5)B8
Codes:
g
Options:
1-1v 2-1 3-11 4-111
1. %
5 % 1-1 2-1 3-111 4-1v
1-11 2-1v 3-1 4-111
3.¢
1-111 2-1 3-11 4-1v
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Assertion (A): Right to Information Act intended to make our democracy work
for the people in real sense.

EEOF(A): Sdrardar) 300 5F (a0 cﬁ)mﬂg @goéﬁ [Bee B85 &5
Jaberd8edaoknbsn.

Reason (R): The main provisions of the Act contain a section to ensure this.
sdeeo(R): 15%065& gy Daogdes® 6D HHis af VES ¢ob.

Options :

Both (A) and (R) are true and (R) 1s the correct explanation of (A)
(A). (R)ew Bodr a=ddo, (A)H (R) 588 D56es

1. %

(A) 1s false but (R) 1s true
5 % (A). (R) en Botsr @aedio

Both (A) and (R) are false

. (A) ®@ardo =08 (R) a~d5o
3.

(A) 1s true but (R) 1s false
4. (A) =580 58 (R) 2577050
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For which of the following the IT Act. 2000 1s not applicable?
% (Bob o8& B8 IT Sggo 2000 $BoSE?

I, Negotiable instrument
eTegseo8 airligee Jigo

1. Power of Attorney
556 o wird)

i11.  Contract for sale of immovable property
Em:ftjﬂ?é‘a ©as=E sPolEry)

1v.  keeping books by banks in electronic form
&8 Hipeed arodhen JerslE 506’ Soderdd

Options :

1w 11,101, 1V

1. 11, 1i1
2.9

1, 11, IV

1, 111, 1V
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In which of the following cases mncome of previous year 1s taxable in the previous
year 1tself?
& (Bod B° 308 Hedods 8o ewrdho, ﬁééoéé&tﬁoﬁﬁﬂ Ry Dprarth?

1. income of a person leaving India permanently
F588%0 0B P&orr Jepshid) &8 emrdbo

. income of bodies formed for a short duration
ke 0608 08BN oo srrdho

. income of discontinued business
aRSEFTRRY DOHIHDS H0% smedho
[« [
iv.  income of a newly set-up business
S DBYBDD aegard eswrdho
— o

Options :

1. 11, 111, 1V
1. %

2 1,11, 111

1, 1i, 1V

G L
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An emplover has not deducted tax on salary at source and caused loss to Income

Tax Department. For this loss, the employer is called:
2.& dHedrd Sireodt 280 ) éﬁoééaom eredha) Dy T 3’3‘@0 EDRoTe.

% é@g&@. ohesrdd) S Do a&ﬁs’é%ﬂﬁj
Options :

CDHTiHUE‘llT jﬂ% gssce

| % esnio&ins «?_an::@

Deemed Assessee
ga)es E}?&fﬁ&

Assessee Def’mlt
SDexo JobS F_—*Jrom

Constructive Assessee
20EP8)és &a?afonj
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Which of the following are fully exempted from Income-tax if received at the

time of retirement by a Central Government employee?
Bol&s 298hesy 1'%655ﬂ B85 HK5d e Schos® B:hos & (Bod HE° 0O Fromr

éé}& 08 MdSEononataean?

.. Gratuity
L{W@é&

1.  Commuted Pension
ézﬁm?geﬁ 29% 3}(;15

1. Leave Encashment
2055 HK5HE8 )

iv.  Statutory Provident Fund
FITHE R0 Hob

Options:

1.« 1, 11, 111, 1V

1, 11, 111
1, 11, 1V

i, 1ii, 1V
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Assertion (A): A person incurred a loss from house property to the tune of
Rs.3.00.000. He has income from several other sources to set-off this loss. But
his auditor asked him to carry forward Rs.2.00.000 loss to the next year after
setting off one lakh during the vear.

B8arE8(A): .8 %8 ﬁe}ﬁ?g@ 8».3,00,000 $gjo gRomre). @8O8 % éﬁdﬁv&& e
I8 DS @k {)Jvo;a:a ET200. wond ©0Hd sbeb & é@oéﬁ %r.1,00,000 &
dodéBo g 3% DADS Ge.2,00,000 Sgo S6ard Sonds 95&5&5@
Dabsam.

Reason (R): Yes. the auditor 1s right. Loss from house property can be set-off
against income under any other head only to the extent of Rs.1.00.000.
s2880(R): @9 8865 H6res Bakyd. e S50 add o %Qlé 8ol errabo
Hoge 62.1,00,000 588 e5esd Dy

Options :

Both (A) and (R) are true and (R) is the correct explanation of (A)
(A). (R)en Boir ardso, (R). (A) BnE) 588 Ddbes

1. %
(A) 1s false but (R) 1s true
- (A) wardo, (R) arddo

Both (A) and (R) are false
3 @ (A). (R)en Botsm esrdso

(A) 1s true but (R) 1s false

4 % (A) =030, (R) @ardso
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Correct Marks : 2 Wrong Marks : 0

Match the following:
% Bob 6 a8d8S0k:

Section of Income-tax Act Purpose
STPaD) H:) DES &é%ﬁ@
1. 80 EE 1) NPS contribution

NPS 90@2{1}053’15
2. 80 CCC 11) Contribution to political parties

oresbah éﬁﬂé&}é} seo|Barsiid
3. 80 GGB 11) interest on loan for house

K)ieo 6% Gmop H6

4. 80 GG 1v) Rent paid for residential accommodation

ﬁg&’]ﬂoi} 0oL g
] o

Options :

1. % 1-1v 2-1 3-11 4-111
5% 1 2-ii 3-iii 4-iv
3 % L 2-iv 3-i 4-iii
, o i 2-i 3-ii Aot
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Assessment of escaping income 1s known as:
&a)0HEE) sorad @RI S8BT



Options :

Best Judgment Assessment

- ﬁ% agﬁméﬁ & Do)

Self-Assessment

e T —. B

230 =9 mimahots
2. % %

Re-assessment
3 v D-o0Dos

Regular Assessment
Orged ®RoL
4, %
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The price that would be paid if the transactions had taken place between two
comparable independent and unrelated parties is known as:

Elale) éﬁﬂ@jﬂg Srold, Homotiosd) @D%&} g 236R 61 AgRFo08 29 &) 65
HOT6:

Options :

Transfer Price
. 268 85

Arm’s Length Price

. JonTedH &8 $8



Fair Price
T 56

Commercial Price
aeday §O
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Which of the following ITR Forms is applicable to an individual or HUF, who
has mcome from one or more house properties and other sources?
%8 o> HUF 2,48 8¢ wodéod ) ﬁéfﬁ@@@& erroho, B8l B/)J"U;E} #0od

sroho 608 & Bod ITR grdoes? 08 sd@rAomd?

Options :

ITR-2

1. %

ITR-2A

5 % ITR-3

ITR-4
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Which of the following methods of depreciation is permutted under the Income-
Tax Act?
SPaD DY) P80 [Heedo & (Bob ) DK Sl ©iEndT?

Options :

Straight Line Method
, B0y S8

Annuity Method
arOsre D8
Bl 0@

Diminishing Balances Method
é@é}fﬁ& Qexe a’:.cé@

Any method. provided 1t 1s uniformly adopted throughout
D HESI0 o8 B e KR G0l
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Understatement of Income can be termed as:
SESTe (HEBoIS eswraird) 20T6:

Options :

Tax Planning
S o
DY) (Deds

Tax Administration
B/ZJK}J& HBTPD

Tax Avoidance
é?ﬁ}& égjﬂomgeééo
3. ®

Tax Evasion
Sy D
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Lease financing is profitable to the lessor in the case of:
en prdioh ©deehdd @ ?8321\955 ergfrdHo ©od:

Options :

Inflation
@555}@?39&0



Recession
e_agné 533006550

Normal economic conditions
Joeies =0¥ 58 en

3. %
Stagflation
ERDHS

4. % 9

Question Number : 132 Question Id : 51714410330 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

Which of the following industries will have low average cost of capital?
& (Bod HBEHeS® 308 é}jﬂﬁ:r‘,ﬁaﬂéﬂéo‘ﬂ% difén $gaho S Goénod?

Options :
Pharmaceutical Industry

| x TN HOES

Steel Industry
5 655 H0|F0

Petroleum Refinery
SE0% éj% ém@mtﬁo



Banking
o ero8oh HOIED
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The time value of money does not take into consideration:
508 Ko scedend & Bobd B HBreSEtn8 &:58%5?

1. Capital loss
Sertss EG@D
11. Negative interest

SoeeyE H& Béw
11.  Inflation
@5&%@?3590

iv. Recession
e3b8 -':'SPDC%D
Al

Options:

1, 11, 111, 1V

1, 11, 111
=

iii, 1v
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The minimum rate of return that the company must earn on 1ts investments to
fulfill the expectations of the mvestors 1s known as:
en2berdo ©oSTod ©0tHE%S08 Kol 2pathop Sodbomedys 05 ool
Béw:
Options :

Cost of Capital
é}ﬁ@tﬁaﬁﬁjé'ﬁjé B5aDo

NPV
NPV

IRR
IRR

Benchmark rate
. 505533135‘; Déw
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Systematic risk is a combination of:
EsDadbdS (Systematic)osy s (8od o0& ﬁﬁj@ﬁém:
1. Market Risk
S35 B
ii. Interest Risk
HE 8o
G
i1.  Credit Risk
DBHA By
iv.  Purchasing Power Risk
E5fen 38 8%
Options :

i, 11, 11l

1, 11, IV

1. 111, 1V

Question Number : 136 Question Id : 51714410334 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0



To form the curve of the Efficient Frontier. we need:
DBB0EHS H0H Op(curve of the Efficient Frontier)k 28j03r08 seiiesdis:

1.  Expected return of portfolios
@GQ@E@&W@ s380Dd Toad

1. Varance or standard deviation
D9 B edrdE Do

1.  Covariance

lelse
1v.  Covariation
R T teTe)
Options :
1, 11, 111, 1V
1. %
1,11 11t
2. .
i 11.3%
3.
4 % LILIV
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Risk of a portfolio increases when:
2l éﬁagéﬂ&f&}v 85y 2EtH 2%rhehosos:

Options :



securities having perfect positive and negative correlation in their expected

returns are combined
¢80 8380 Unw&'t%a:n r}Oqgj'“fj cﬁmééé E:iwamééé sEHomotolie 2Em 6%@260

- 2806050

securities having perfect negative correlation in their expected returns are

combined
850 @80 U%&E%EJ ol mog@’:iﬁ Eﬁjea'ﬂééé HEdos080 He ﬂé)‘gﬁ%bé}

2. % 2850000

securifies having no correlation in their expected returns are combined

3 % 530 @800 tﬁﬂa}&ﬂ@ gy e 5 HEH000808 @éﬁg&é\@é} 23858 0N 0

securities having negative correlation in their expected returns are combined

4 % 850 3800 Uﬂ&}&'ﬁ@g avlaly &mﬁéﬁéé weFRoa0t0 e ?Jé]ﬁéﬁéa}éj 23808009
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Which of the following is the immediate reason for the present depreciation of
INR against US $?
INR Qe0s&® US $% éé@ﬂéom L}.’Jfgé SIialty 08 S¥e stw0?

Options :
Increase in interest rates by Federal Reserve
DEBS Bastiy S5 $6 Bégd DoSeso

Increase in Repo and Reverse Repo rates by RBI

, x &5 BB, By BFTHH DoSKo



Russia-Ukraimne War
6@@-&5@5 dﬁ)}ﬁgo
3. %

Global Recession
(2350 Fjgé Avlelale
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Match the following:

actaddiol:
List A ListB
D2 = o DR = 8
o =
1. Net Income Approach 1) Irrelevance of capital structure
V88 esmrdh Hoge et Rowyes &moa}ige‘_ﬁ
2. Profitability Index 11) Change in financial leverage changes
erefrahEs Hmd) cost of capital
08 DI0ES® ) FareiTlBS
éﬁcﬁaoéﬁ et &30
3. Net Operating Income Approach 111) Ranking of Projects
Q&8 ©5080h smrsh Hoge @280 orodoh
4. Capital Rationing iv) A variation of the NPV rule
Sres BA0R NPV Q206 D5t
Codes:
88
Options :
1-1v 2-1 3-11 4-111

1. %



1-1 2-11 3-111 4-1v

2_23
3 @ 1-11 2-1% 3-1 4-111
4 % 1-111 2-1 3-11 4-iv
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Assertion (A): The biggest benefit of arbitrage 15 that the risk element 1s next to
nil or at least nearer to zero. especially when we take advantage in
price of a security in two different markets.

&BarSH(A): smggore fido Both iy E()Jvﬂggéﬁ Eaé:g&é; 5560 doeid edgreomn
BRIV e 93623@'55 Ging) ©8 i of) De08 85) Sy, Gl
R Bt Gotiéo.

Reason (R): Though currency risk persists in arbitrage operation. it can be

hedged for a smaller cost.

s6m0(R): B @ES° K01 8R) aX)B8, 8BHKy Hido Ke) Hordd fe D),

Options :

Both (A) and (R) are true and (R) 1s the correct explanation of (A)
1 (A), (R) en Bo&r addo, (A) % (R) £5835 95586

(A) 1s false but (R) 1s true

(A) @arddo s (R) arddo
2. %



Both (A) and (R) are false

2 % (A), (R) en Bodir esedso

(A) 1s true but (R) 1s false
4% (A) =550 520 (R) eardido
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Assertion (A): Human Resource Accounting helps in comparing the value of
human resource in two similar organizations.
S5BES(A): o8 55308 Botd Jogde Srls Sx5te dendid H0Y) Srierds

eS8 Sdthe etofloh HSEahdheob.

Reason (R): There are uniform standards for Human Resource Accounting.
52680(R): &risd S5the eftofiohd E8r:) [Hareren samn.

Options :

Both (A) and (R) are true and (R) 1s the correct explanation of (A)
- (A). (R) en Botsr a@ddo, (A) & (R) {588 d58es

(A) 1s false but (R) 1s true

(A) =0 (R) o750
2. %

Both (A) and (R) are false

3 ¢ (A). (R) en Botsr mardio



(A) 1s true but (R) 1s false

(A) sS850 (R) earedsio
“
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As per Ind AS-1. a complete set of financial statements include:
z06 AS-1 [@seo =8E D368 Hrb 2e58° Bod Gond:

i: A balance sheet and a profit and loss account
{is] e, wt o
@y oo o:@, E_snair-ﬁu:‘g@ Pl
11. A statement of changes n equity
&&ASS Srtne V568

111. A cash flow statement
S50 Pt I6Y

iv.  Notes and other explanatory information
55&]:5 0BAD 1SS DBV DTG0

Options :
1 ¢ 0
1. 11. 111

1, 1i, 1V

4w LI iV
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Match the following:

asdhaiiod:

List A

09 - o

1. Accounting Concepts
wg’ofiof grdiden

2. Accounting Conventions
wsoflon arolHmrairen

3. Accounting Principles
@ ofloh rlEeen

4, Accounting Standards
wsoflon (Samesen

Codes:

Options :
-1y 2-1
1. %
. -3
5 % 1-1 2-11
1-11 2-1v
3.9
4 % 1- 2-1

ListB
05 - &
1) convert rough ideas in to practical forms
S088 s SteH SRR
Sraro@ts SrdnEron

i1) rough mformal 1deas
S oohs esbSbom

1) create more responsibilities
Ter argien Haskon

iv) high possibility of bias
FEESS K edeedo

3-11 4-111
3-111 4-1v

3-1 4-111

3-ii 4-iv
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When the shares are 1ssued to promoters for the services rendered. the company

debits this amount to:
8 W% Ddedred é@&é%ﬁ%é}@é eémen 2mf ID5H% oz GDE 30 grae:

Options:

Capital Reserve A/c
SreEs Besty grae

’| w
Promoters A/c
5 % é@:‘é;‘;éé}ﬂ goege
Goodwill Ale
3 ¥ HEDS gree

Share Capital A/c
4 % PERIOGN gra
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Which of the following is true with regard to pre-acquisition profit in a subsidiary
company?
é%&cﬁﬁ €o2d) ééﬂéﬂééé} E00th ool Homohod & Bobards® Db adso?

1. 1t1s treated as goodwill
REST HbKBomer

1. 1t1s treated as capital profit
ey erdorr HBHHoTD

il  1t1s treated as revenue profit
B erglore H6KBEoTD

1v. 1t 1s available for distribution of dividend
BAG0E HoMRe =6 ofhod

Options :

1and 11
5 o onlyii
3 % lilandiv

4w onlyl
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X.Y.Z are sharing profits in the ratio of 6:5:3. They admitted A into partnership

with 1/8% share. The sacrificing ratio of X.Y.Z is:

X.Y.Zen ergroih é‘\}‘ﬁ{g@éﬁ Hodhbotr A e 580 1/850& ePE epvﬁénééraoéﬁé
@"’mé)agii}. X.Y.Zo a8 D@:



Options :

equal

5/14: 4/14: 5/14

L
n
Ch
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Match the following:

236808 S0
List A List B
0o - o o -9
9 - o) g — &
1. Realisation Account 1) reconstitution
5B grae b QoEs0
2. Revaluation Account 11) allocation
398 Surerosd grae 2eron0d)
3. P&L Appropriation Account 111) ascertainment
e SIBeron0sy) grEe AozBoséo
4. P&L Adjustment Account 1v) closure
@nénmﬁgaﬁ&w g SHrdaahiEo
Codes:

Options :

1.



1-1v 2-1 3-1 4-111

5> % 1-1 2-ii 3-111 4-1v
_ 1-11 2-13 3-1 4-111
1- 1ii 2-i 3-ii 4-1v
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The future uncertainties reduce the utility of----------- :
PGS wdBFen B (HGrer)) SHaeow:

Options :
Budgetary control

260 dcholPes
1.4 M

Standard Costing
[EreredE sooh

Ratio Analysis
DB DB



Marginal Costing

Hrdke0 sehon
4. % 21 23

Question Number : 149 Question Id : 51714410347 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No
Correct Marks : 2 Wrong Marks : 0

Identify the correct pair(s) from the following:
& (Bob BE® 1B aden EHR"H0E:

1. Overhead Efficiency Variance: Automation makes it favorable
5,566 ﬁva’)ﬁggj DS8ee0: @isthdS 628 edreo 5‘@08}

.  Overhead Volume Variance: Increase in petroleum prices makes it
favorable
5.563r8 $05re DSbn0: DD o EHEL HIN eddreo Fkod

1. Labour Efficiency Variance: It 1s also known as Labor usage variance
(B> s DiSbmo: BN (B DAGPK DSBemo ©) &ree wotrd

iv.  Efficiency variance: Increase in input prices makes it unfavorable
i‘)ﬂ:fngs DSBmo: mE) S’ NG BIN edhiroo 3mHod

Options:

1w landiv

1 and 111
2.

111 and 1v

3. %

1 and 1v
4 %



Question Number : 150 Question Id : 51714410348 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

Assertion (A): JIT approach to inventory management is being replaced by JIC.
H8FES(A):  m36d e Hoge JITH JICS i:aposo (replace) 3%08.
Reason (R): Supply Chain disruptions due to COVID 19. Russia-Ukraine war,
distrust between US and China etc. severely affected sourcing of raw
materials in time.
s8:0(R): COVID 19 eosoediren, Saks-&Eons dﬁngo, US-3re &g
oo &k HurTrel 988 $50H08" JErENESER) Herddo
Jow.

Options :

Both (A) and (R) are true and (R) is the correct explanation of (A)

1 & (A). (R) en Bo¥r a@H80, (A) B (R) (58S H5es

(A) 1s false but (R) 1s true
5 % (A) ®ard%o, (R) adso

Both (A) and (R) are false

(A). (R) en Botsr eardso
3 %

(A) 1s true but (R) 1s false

(A) 580, (R) &ardsio
4, ®



